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09132200 phhqJrh qphrifrnr-il Lru L 400 750 300.0
09211000 puuJmqhp h puurblmphp UU t 2000 t5 30.0
09211400 rlrnfu ruhgriurh urnr-lrfr t mn hn UU t 2500 4 10,0
18141 100 iu2 luuuruhpurlhtr dhntrnghhp uu trln+ 3000 10 30.0
18427130 d.hnhnchhp urtnntu rub rutr uu hrurn 250 30 7.5
181 1 1000 ,igg!* gbgulrul|rruqnlurn LIU 4puril 40000 1 40.0
241 10000 pbrlhurllurb ruFururrlpru\urh qurqhp UU u'' 3000 166 498.0
241 1 1800 uqnur hhqnr-\

utghurnh
UU L 500 129 64.s

24326000
UU tr*n 1200 10 12.0

30125100 pupupfpirhp h tnnhhpirhp uu hurrn 5000 J-5 65.022820000 u]ldrlPtrIr uu hulrn 5 50 v.z)
30197631 pnlrya,A4 Snpriunnfr UU hrurn 1850 50 92.5
30197631 pmrya hu[nr-h uu hr 500 32.5
30192t21, qph2qlqh\urqnp uu hurtn 100 100 10:0
30t92137 urutnFtn qFrup[urh rlhpnthnrl, huuurnurb uu hruur 200 10 L.V301927t0 unu uAlul-iunnlrur, qpuu hhlur! u1|rli uu hunn 200 10 2.030197234 pqlauulur uru t{ tln2ur [uqiln{ uu hunn 700 20 14.03019723r $ur:t UU ulnr-rJr 10 1100 11.0
3019723! prlpurulurtrur\ $ru11 hpnrl / 1 Ogrurr / UU hrurn 400 5 2.0
30197231 prLpu utrutnu l.l gurtthnn{ /4OSurry' uu hurtn 1300 4 5.2



30197231 tdqpulullu hu\ S u1 thpml TTTT hurrn 300 10 5.U

30192160 2up[fuhhp UU hurur 300 5 1.5

30197631 pnqp rnqurqpur\urh UU urmrh 10000 5 50.0
30192780 l;2tupurdurhlry UU hurur 320 10 3.2

39241210 d\punn qpuruhhlurlur1|rh Lru hunn 650 2 1.3

39263400 unipur\bhp UU urnLrh 400 4 1.6

39263s10 uhqriur\, {rnpp UU hurur 30 25 0.75
39263510 uhrpiur\,.Ihght UU hunn 100 36 3.6

31681300 hnlft urupplr 4huuufrhp h ufuhdrutrhp UU nnuil 400000 1. 400.0
3 1681300 h'illf-h lurilqhp UU hunn 8000 20 160.0
31771140 ulfrlntnur3frh uurppiurlnpiirutr L1h\urpnrl UU nnunJ 250000 1 250.0
3314L1.17 purilpru\ UU hurur 300 20 6.0

3321 1000 urlurnnpn2|ry hlmphp uu 4P1ud 350000 1 350.0
33596550 LurFnlrunnnp odurh4ur\ hlmphp UU nnurr.i 200000 1 200.0
33691162 turpnFururnp ruq4rutrlmphp (nhurqhhurhhp) UU 4p1uli 500000 1 500.0
33141,129 alniut\hhp uu hurur 120 50 6.0

24310000 hlnihur\urh urhopqurhur\urli pfnlfrur\urh hlnr-php uu lnurl 340000 1, 340.0

38436500 riuqtrfruur\urtr fu runtrfr2 UU hunn 37000 I 37.0

30232231 hrur"ltuburnq>h hnzur ubun]urnurh UU hurur 1 7000 z 34.0
302361 10 oul hnunnhrl hhlnn mBrnlh UU hunn 1 9000 2 38.0
30237112 uLnr-qrlurh rtnh UU huun 19000 38.0

30234630 $rhr hhrnnnrBlnth 8 GB uu hrutn 4000 4 16.0

30232000 hg,l"tl uurpphp uu hurur- 100000 1 100.0

33761100 qnr-qurpruhlr pmqp UU hunn 130 200 26.O

3 1521110 1nr-urupd,ru\ 60X60 UU hurtn 9000 I6 1.44.0

5 J.) J_25 0U lnl.uulTlalurl z)xr5 uu hurtn 5000 4 20.0
31.521,200 luliq t\nhnrl UU hrutn 1200 10 12.0
31531210 dh\urpur\urli lunlq 60W,80W, 100W uu hurtn 100 20 2.0

31221280 hp\rupurcilurh lruphp uu hurur 2500 o 15.0

31321 1 10 grubp tr,Ihlhh lurpilruh drulnr-fuhhp uu r-ihurn 250 60 15.0
3771.1250 |unqmlur! 24 uu rihrnp 900 5 4.5
3t71t250 funqnilul\ 44 uu rihurp 450 5 z.z3
5 I I IIZJV funqndurlrh houlluruhn UU hurur 450 6 2.7

34331300 urrlurnrlhphtrurtrhplr quihhuurunluruhp uu nnunl 100000 1 100.0
3491 1 150 q urhurq urL q urhhuururr.iuruhp UU 4nuni i00000 I 100.0

38431700 LulFnlruunplrurSf \rupngh:lthn h qurpurqurhhp uu nnuril 300000 t 300.0

38s91000 lurFnFuurnF uulPp UU qnuril 950000 1 950.0
39812600 r-turpnnrL riurbm\hhF h rhn2trhhp UU huln 450 40 18.0
39831.242 tqugph rlrn2|r &hnpnrl tdurhrurm hunlurn uu hrutn 300 2Q 6.0
39831246 hh4nr-! t rlurqnn rfhpnq UU hruur 1950 10 19.5
39831281 uulurllh riurpphl nt lurp uu hruur , (n 40 18.0
39831282 \urhnr-1p rlurpphl nr- lurp uu hurur 600 10 6.0
39831283 hutnur\ |r 1 

r.l urorlurh l urp UU hunn 500 20 10.0
39836000 u{hr uu hunn 700 20 L4.O

39837247 urfuururhurhnq hhrlnr-\ uurhhurhqnr-1gh (luuurhtmB UU hunn 600 10 6.0
39831240 durppnq htnr-Bhn UU hunn 500 ZU 10.0
39831244 odurn rnhrnhuur\rutr uu hutn 150 20 3.0
39831245 odurn hhqml1 UU hurur 400 20 8.0
19641000 qn1 |rbplrl htiurthh ul urnh runph hunlurn UU hunn 1450 10 t4.5



1964100011 nthkphthhruthb rurunh unrh hruilru UU hur.n 320 10 3.2
44221140 qurr.nnrhurl-rhhp uu hunn 120000 I 120.0
44221t40 qnhhp rfhr.nrurlurQruh ZUU hu-ru 485000 z 970.0
447tI200 ghilhhrn uu ulurFlt 2600 60 156.0
t421.1.100 unlurq UU utulnL 250 6 1.5
44322300 rftu1 mlu hurluuunhur]urb hhnurhnuurhururh hunlurn uu tihurn 250 50 12.5
32231600 hhnurlunuruf htr hruuth uurnphn UU hurr"n' 75000 1 75.0
32361100 flrurhphhrn hurul h uurnBhn uu hunn 75000 L 75.0
44411740 qntqurpurhur\nhp UU hunn 30000 2 OU.U

4441,1300 llurgurpurL UU hunn 13000 1 13.0
4441.1.120 2p! bnpur\ UU hunn 6000 I o.u
444\1510 rlrur\ruhhhp UU hurur 1800 3 <A

44423680 2|rtrurpurpmp3urtr rlh2 oqururqnpErlnq qurhurqrutl
ur3l urulpruhptrbp uu 4p11ld 300000 300.0

445 1 1000 d,hnpfr qnpblrphbp uu 4nruri 1 00000 I 100.0
4452Lt20 4nurh rlnu\urtrhhp uu rlpurli 40000 t 40.0

C It4 tu tf h bp w u4p ut ttp h bp 7532.4
OurnurJnrpJnthhhp

45461700 2hhphp[ h 2[rhnr-plnr-trhhp]r ttrfuurghh hnpnqr.iurtr
ur2]uruuurhphhp

qz
+Funi 560000 1 560.0

45311125
hhnurlunuurthlt qblt urhryu4pmrl h rfiu1ntfuhhplr
urbg\urgnui UU +Furd' 250000 I 250.0

s01 1 1 130
u{unrlhphhurhhpfr ilhpurtrnpnqrlurh
burnurSmplnr-h UU +Furil - 2s0000 I 250.0

507s0000 {hphlur\fr rlhpurtrnpnqrlurb h uluhqruhtlurtr
brunurlnr-plmh UU +Fulli 100000 I 100.0

s041 I 160 $np&urp\nq uurpphplr {tpurhnpnqriurh h
qurhqur hil ru h burnru l nrpl nrhhhp UU rIFtuil 500000 I 500.0

5071 1 100 \h\urpru\urtr utupphpfr {hpurhnpnqriurh ir

lqruhqrutnfr.uh burnurlnrplnrhhhp uu llrluLt 1 50000 1 150.0

641 1 1000 huhpur3|rh hhnurfu nuurlfrh burnurlmBlnr_h LIU 4lrurd 500000 1 500.0
6s111100 2plr pu2|unuf UU 4Fud 300000 I 300.0
6531 1 100 Lf. khhpqfrurS|r pru2]unr-rl uu 4Furil 9000000 1 9000.0
64121000 umphurtrrlur\*:hlt ErunurSnrp3nr_h Lru +Furil 132000 1 r32.0
66s1 1 170 un{urntfhphtnuS}r ruqurhnrlruqnriruh burnurrnr_rarnr_h uu 4pulil 35000 -z 70.0

71631120
rurlurntlhphhurS|r rnhfuhfrlur\urh uurnr-qrlurtr
burnurlntplnr-h uu qlruril. 10000 30.0

7122t200 \ *:ph *ntfrur\urlnu griruh brunurlntplnr_tr UU 4Fu11i 400000 I 400.0

72261t60
bpruqprul|rh urulurhm{riurtr uquruurp\riurtr
burnurlntplnr-b. uu tpulil 400000 400.0

72212300 &rulururFurqhrnru\rutr brunruinrplnrhhhp 200000 200.0
79981 100 purdruhnprlurqprlurtr burnurlnr_p1mh uu r1luni 9000 l1 L08.0
72400000 hrurirugurhgurlfrh burnurlntplnttrhhp UU rlpuril 470000 I 470.0

79131300 {b\urpnhurS f tr uurnpru qpnr-pg uh
hun{uururprfurqpr.lurtr burnurlnr_plnr-tr

uu +Flud 3100 I 3.L

79223000 ilupuurJhh dh2trnp+h (fnnphp) burnui3nr_pSmtrhhp uu 4punl 200000 I 200.0
7981 1000 tnuluqFru\urh 6unur3mp1 nr-h uu r1Iruril 1 00000 1 100.0

90921 100
urfu rnurhruhilurtr h riru\urpnr_1 btrhpfr n2h2rugriurtr
brunurlntplnr-hhhn UU I}Fluil 180000 I 180.0

90s11100 ulph hullrupriruh burnrulnr-p1nr_h UU 4Fu1il 360000 I 360.0

09331400
upburl|rli thhpqtru3b uurrugrlurtr hulfur\urpqfr
hurluurqEmtl h rnhrlur4pnr_il

qz rlpulri' 0 1 0

48441300 huZ{qrqurhur\ruh hurilrullurpqlruthh bnruqnurthh uu rlFurli 1_25000 I 125.0
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031 1 1280/1 \runt2nt\ (hh4nrl1 ofrqmihpurlfh) hunn 1000000 1 1000.0
031 1 1280/2 ! urnr-;nr-\ (pnr-pur4|rhh-Lfrurplrl urlfrh) nt huln 20000 10 200.0
031 1 1280/3 \ runr-;nr-\ (pnr-pu4|rhhurq[tr) $/ hurr.n 20000 10 200.0
031 1 1280/4 llurmynr-! (u1n1 |rmphrnurhuithh) TZ hurr,n 20000 10 200.0
031 1 1280/s u nt hilhnhq tu ohurrh L urururr hru qunn qz urrrrh 100000 300.0
031 1 1280/6 \urnr-1nr-\ (+hhqnqhubrurnhhp) qZ r.nnr-rh 100000 300.0

14521 1 10 rlhrnurnhhnh rhnrhhhn uu hurrjr 150000 1 150.0
14821000 urruurhh +/ ,,tlp 6000 50 300.0

19521s00/1 luhd (huropuhnurrhtr) UU hurur 20000 10 200.0
1952150012 fu hd ($hho1 $oprirul ahhlraurlirtr) UU hurur 20000 10 200.0
24311190 ppmhhp TTTT hunn 50000 10 s00.0
24321660 q ruLrurq urh opqurtrur! ruh Bhrlhurh urh htnr-Btn UU hrurn 30000 5 150.0
24321340 hpurhnr, pdtLurLurh uu hrur.n s0000 1 s0.0
302 1 1200 nrnrnuih hn hurJurh urnqhlhhn hunn 400000 /a 1600.0
30211120 qhphullur\urpqlr; huru 2000000 1 2000.0
30211190 hrurftuhuinqhlhhn o) hunn 400000 A 1600.0
3021 1280 hurilruh ru nqh> ru rlrnn qn r-thh ntri r]t hunn 220000 8 1760.0

3023211.0t1 rruqhnrurhtr uruhl/ A3/ art hunn 400000 I 400.0
3023217012

1 
urq hpurl|rh vvqbS I A4l \+/ hruur 120000 Aa 480.0

30232rr013 lurqhprul frtr uulb: qmtrunlnp/A4l qz hurtn 200000 1 200.0

30237112t7 uhnrgriurtl pp\ / 2500 .lU/ nt hunn 300000 8 2400.0

30237112/2 uhnr-griurh pp\ / 5000.{U/ $/ hurrn 1000000 I 1000.0

3121 1430 flh\urpur\ urtr rlruhurhur\ hhp uu hunn 30000 20 600.0
3r2Il22I urtr2ururlr2hhp uu hurn 2500 20 50.0

31521560/1
uputuplrh lnr-uurrlnprfurh puriqhp /urphurlfrh

{uhurtrur\nrl/
uu hrurn 20000 t2 240.0

3152156012
urptnruplrh lmuunlnprlurh pniqhp /urphru3frh

{urhurLur\m/
LIU hunn 5000

.,^
120.0

3i521360 L1h\urpur\urtr luriu1 UU hurrn 7000 30 210.0

31684400/1 r{upqur\titp 1220q uu hurur 2500 40 100.0

3168440012 {urplur\hhp /380q / uu hutn 10000 20 200.0

3171 1400 h1h\urpnbur3frh frburhqpurl uluhriurhhp uu nnurti 980000 980.0

hnrlur\gilurtr \nhrnntp uu hunn 500000 500.0
33691 160/1 philhuih ru h urq 4urhtnr-Bhn /nhru qhhurtrhrr/ $Z hunn s00000 500.0
33691 160/1 hururntL Bhrihurhurtr urqnurhtmphn /nhurohhr.nhhn/ hurur 400000 I 400.0
33791300 I tuFnlruulnn ulul ru tllur utnutur4nrulrp +/ 4nuld 1000000 1 1000.0



34911230

buiuuul|rh trlnr-php h ulurhhuurunftuuhp
(ppnriururnqpu$[ur\urtr ilruqurtrnpurS frtr
ur2rnurnurh, 30-60il)

hruur 720000 I 720.0

349112301r
burluuur3frtr trlmphp h uluhbur.nuniuruhp
(hh4rrr!ur$urq ppnrlururnqnu$hruLurh ru2ururpur! )

r]t huru 1200000 1 1200.0

34911230t2
brufuuur;|rh hlntphp h qurhhuurunftuuhp
(hhrinr\ru$urq ppmlurunqptu$]rur\urh
trurhururtururnurh)

+/ hunn 900000 I 900.0

34911230/3
burfuuul|rtr hlmphp h qurhhuururr.iuruhp
(hhn mb ur$urq ppmfunnnqnu$hurh ulh hurilrudlirh l)

hunn 1200000 I 1200.0

35121290/6 uullrlhhp dh2rlurh (160 ururi) sz hurrn 29925 4 I19./

35121290t7 ullh>hhp dh2rlurtr ( 250 uruni) qZ hunn 29925 4 rtg.7
3sr21290/8 tnrlh>hhn dh2rlurh (400 urtnri ) qt hruu 29925 4 t19.7
3512129019 uftlhhp dh2rlurh (1000 unml ) alt hurur 29925 4 rt9.7

35121290/10 ur{}rltrhp (prup&p dtr2ilurh ) q2 hunn 6t425 2 r22.85
35121290/r1 unlh>hhn (purp&n dtr2rlurtr ) hunn 62000 2 124.0

35121290/12 rnrlhlhhn (purn&n dtirr.turL ) ntfz- hrurn 6t425 2 122.85

35121290t13 unlh>hhn (purn&n dhrilurh ) qZ huln 560000 I 560.0

35127290174 u{}r;Lhp (purfr&p dh2riurh )
r\t hurur 640000 I 640.0

3831 1300/1 \h\urpnburlf h uhluLfr\ur\urh \2hnptrhp l. 5 \q hunn 178000 J 534.0

3831 1300/2 L1h\urpnhur3fb uhfub[\ur\urh \2hnphhp /< 30 qq/ att hunn 50000 ') 100.0

3831 1200 L1h\urpntrurlfrtr rlhplnrbur\urtr \2hnptrhp hunn 377000 1 377.0

3831 1200i 1 [h\upnhur3]rtr rlhplnrbur\urh \2 hnptrhp hruur 2500000 1 2500.0

38431610 fu urn hfr2hhp /riurqhlruur\ruh/ YL hurrn 200000 ') 400.0

3842t14011 &lt2iltub 2ui}riliutr uurpphp

/rfnhnrlhinn onhhurhhr h 25 U'tlur/ hurrn 345000 I 345.0

38421140/3 &h2rlurtr 2rurlriruh urupphp, fu.lutthlt huru 2s4s20 254.52

38421140t4 &tr2rfurh 2rurlniurtr urupphp, fo.l-:hlt huln 254520 1 254.52

38421140t5 2unlnirub uurpphp huriir 194670 1 194.67

3842rr40t6 lunfllurir uurpphp q2 hunn 194670 1 194.67

38431s70 2hnnr-g[l uurtrlilrhn s2 hunn 10000 z 20.0

3841 1400/1 |unhur{ur2ul}hp (}untnu.l*:*r}r hZh"p-
hurt nqhhulthh t utlunrl r,nurpurqdnn )

r]t hrurn 840000 1 840.0

3841r400/2 funhurtlur2ur$hp (]unhu,l*t*rtr LZhnp-
$r$pur\urpdfrp 1 ulrfutnr] rnurpurgrln4) nt huln 840000 I 840.0

3841 1800 \nlnpirur2ru{r /DSC/ nt hruu 9200000 1 9200.0

384316i0
hrrrrnhh rlrhnr* *" *l^z* *I^
(hnururhrl ururhq FhulLl urd nn turunhhlhhn) r)t huun 1s00000 J 4s00.0

38431610/1 dh\rnpur\rutr rftrppurr,nnp r\t hurtn 8s0000 1 850.0

38431 160/1 ppnrlururnqpu$trhp alt hunn 9s00000 1 9s00.0

38431160/2 ppnrlururnqpuShhp q2 hurur 10000000 1 10000.0

38431 190 uulh\uipnrihurphp tru hunn 0 1 0

3851 1 120 u\ur hurrlnpnq dh\urpnhrul |rtr rlurtrpur+huutlt
'NTI hurrn 73900000 I 73900.0

38591300/1 LurFnlrurunp qh4url|rh ulqulg trU hurur 700000 I 700.0

38s91200/1
pf il[ur\utr LurFnlrulurnpfrurSnr-rl \]rpurnrlnrl uurpphp
(9rupt -$hZhph hhptrurzhurur urhrnnunnnn) tru hurr.n 4800000 1 4800.0

38s9r20012
plrtifrur\urtr LurFnpulrnnpfruiSmrl \|rpurnrlnq urupphp
(hruurnr! \ nhuurpnr-\ chruth qt urtlurlhphtnu) 2ATT

hurur 4s00000 4s00.0

38591200/3

p[rffu\uih tuFnlrurunp]rurlnul \]rpurnr{nr1 uurpphp
(phprfnqpun{lrihurpur\urh urhurfiqurunp TGA
hurftu\gr{ub $nrph}r &hurl}t n}uiiunip

f L$pu\urprifrp uulh\urpurl muur;unfr.h (FTI R) hhrn)

FU hiurn 60000000 60000.0

38591200/4

pf il[u\uih turpnpuurnp]nulnr-il \]rpurnrlnl urupphp
(phprinqprurfnlhurpur\urh u]rhppntr urtrurfrqulnnp
TSA huniru\qdu1b hliSnurhrunilhn

trU hurur 0 1 0



uqh\urpurlnr-uu2ulf lr hhrn)

38591200/5

pfril|u\urh tulFnnulunplrurlntd qhp*n.lott uurpphp
(ururpphpfr (C, H, N, S, O) p[il[u\utr
urhurrhcurtnnn) trU

hurur 9000000 1 9000.0

38s91200/6

plrilfrur\uh LulFnlrurumplrurlnr-ri \|rpurnrlnq uurpphp
(Ilhtrurqhhlurb rlb$pul\rnnilhr.np (X- Ray

Diffractometer) trU
hunn 30000000 I 30000.0

38591200/8

pfilfu\uti LurFnlrurunpfrur3nnl \frprunr{nq urupptp
(dtr2rfuh, |untrul{ntpluih ir 2hprluruuifrdurtrf :u+h:
rnfirl tlurhurhur\) nT rrU

huru 50000 10 s00.0

38591200/9
pfnlfrur\urh turFnpulrrrnFlrurlntl \|rprunr{nr1 uurpphp
(hdnr-2trhpfr $hqilhlu rlrnp&urplriurh uurnp) ZtrU

hunn
4200000 1 4200.0

38591200/10
plnflrur\urh LulFnlrunnnplrur3mri \|rprunrlnrl uurpphp
(brint2hhplr ht hriurruhuh rfrnp&upllrlurh uurpp)

hunn
3120000 1 3120.0

38s91200/1 1
pfilfu\uh Lupnpruunplrurlmil \ttp-".l"tt uurpphp
(urhnB Euln&n dtrrriurtr) trU

hruur
3000000 6000.0

38597200t12
pfnlfnu\ruh lulFnlrurunpfrur3nr-ri \|rpurnrlnrl uurpphp
(urqmnfr qhtrhpurunp) trU

huln 6000000 1 6000.0

uupphpfr uurnr-qur2unlu.Iurtr urnurhrlurpur hrfnr-2trhp UU hruu 100000 10 1000.0

39181 100/1 LurFnpuruinFfurl|r uhrlurhbhp (plnilrur\urtr uhqurh) +/ huln 300000 6 1800.0

39181 100/2 turFnpunnnpfru3fr uhqruhbhp ($f qf\u\urh uhquitr) AZ hunn 300000 6 1800.0

39181 100/3 turFnpurrrrnp]ru3 f uhqurhhhp (pfnflrur\ru h uhqurh
't,- 

^L.... ^L...\qrlLJlruurlrLr-I./
hurur 750000

.)
1s00.0

39121 100 qpuruhqurtrhhp hrurn 100000 15 1500.0

39r2r520 qpurulurhurputrbhp h*u 100000 5 s00.0

391 1 1 180 upnn gpuruhtrl ul1 ru1 frtr hurtn 8d00 50 400.0

39563800
o4urrlrniutiru h |unrlnrlur\ur 2urphp (hnrlurhn g

fuhfuhrUru)
ULI hurrn 30000 10 300.0

39713432 rJrn2h\nq uu huru 70000 2 140.0

39714200 o4npurlth) uu hurur 200000 Aa 800.0

4212137011 rlurll nr-nr-rfurrhtr q mlq hp /2HBP-5AM/ hul:n 7s0000 1 750.0

42121370/2 r{ur\nmtilurl}rh ulnriqhp hurrn 350000 2 700.0

42121690 rl urh nmr-r.iurr hh rl nrlur hnh druuhn /rhurL urb/ qZ hunn 60000 10 600.0

4263t160 o4urdtr2]r2 fthqtut{thll) tlurifir2hhp .+1. huln 500000 1000.0

42711190 2npur griurh uurppru{npmrihhp hurur 400000 J 1200.0

42777190 2npurgriurh uruppunlnpmrihhp hrurn s50000 I 550.0

42711190 lnpurgrlurtr uurppurrlnpnr-rlhhp (rlur\mriurl]rh) q2 hunn 600000 ') 1200.0

429411,20 r{ru\nuufurl}rb rlunurpurh q2 hurr,n 4200000 1 4200.0

42941160 ptrhdruL \rulnrhrughp rino (phpilnurnrurn) hunn 600000 I 600.0
429411rc r{urnurpurtrhhp i rinr}h1tu1}rl,r/ hurn 780000 I 780.0

4291 1 150 orlullrnluiftuh uurppur{npmritrhp hurn 500000 5 2500.0

44118320 fahfohq glrtrlun4rurn UU ,I/p 5000 80 400.0

44111400 hutlo",llt runruurnurq UU ,i/p 2000 100 200.0

44163140/r 2pf |unr1n{u\, 2 4 uu qb/d 450 150 67.5

44163140/2 2plr |unqn{ur\,   4 UU qb/'t{ 900 150 135.0

44163200 |unrlmlur\hhplr rifrurgilurtr rftuuhp uu hunn 450 20 on

44221100 qruurnr-hruhtihp (ugmil|rhh) qZ {lp 40204 49 1970.0

44221140 4ntrhp hrurn s00000 1 s00.0

4422114017 4ntrhp SZ hutn 300000 600.0

4422rr4012 4nirhp rllrq ZUU {/p 39000 27 819.0

44221170t1 4ntrhpfr ulu2urulurtrtt: g*ltg
(zhpunurl nn rlhinurn urh rutr nnhhn)

hurur 150000 A

= 600.0

4422r170t2 rlnbhph qur2urqurhh: g*ltg hruur 100000 8 800.0



Qhpunurlnp ilhururrlui\urtr qururnr_hurhtrhp)

4422117012 4ntrhplr qru2urqurtrh:. g*lt g

(2hpururrlnp rihrnurq ur\ urtr rq rurnnr-hurhhhn) +/
hurur 50000 4 200.0

44322200 ilru1ntlu, L1h\urpru\urtr lurp UU ilhurn 250 300 75.0

44322300
rlurlnr-|u hurluunnhur{rub frhr.nhptrhururl}rtr \urqh
hunlurp uu ilhurp 200 500 100.0

44411300 plrugurpurtrhhp uu hunn 40000 10 400.0
44521770 \nlqhphhp ihlh\ up url1 ru h/ UU huru 20000 10 200.0

4461120011 purlnhtrhp ppr{urbh}r FurIr&F db2ilurh a\t hurtn 2s0000 2 500.0
4461120012 pulnhlibp ruqnr.rifr Frul&l dh2iftutr hurtn 2s0000 2 s00.0
44611200t3 pulntihhp hhfrntrllr Frupdp dh2rlurh ntT4 hruur 500000 I 500.0

44611200t4 prulnhhhp rupqnhlr Fulp&F dh2riruL qz hurur 500000 I 500.0

Orunurlntplnr-hbhp

45427777 un{urmlurrnug{rub 4urpulurutrhpfr rnhqur4pnr_ri UU huln 990000 1 990.0
4531 1 15li 1 rlrnp&rup\rlutr uruppun{npnr-ritrhpfr rlnhururdrlurh h

rnhqur4prlurtr ur 2]uunnur tip lihn }L 4puni 0 1 0

45311157t2 $np&rup\riurh uurppul{npnuihhpfr rlnhururftIurtr h
tnhqur4prirutr ur2|uunnurhphhn rputri 0 1 0

5041 1 160 $np&up!nr1 uurpphpfr rlhpruhnpnqrlurh h
qurhquhtlurh burnurlmp;nr-hhhp nt}L +FurrI 0 I U

45237215 urtr{ururhqnr-pluh urupphpfr r.nhqur4pmrf

uihrlr.nurtiqntplurh uhh3ur\trhplr qru2urqurhfr2

inhhpiuhru qurhqrftu h hur rftu\upqnrl)
UU rlpull 400000 2 800.0

45311127 ilulmluhhpfr urirg\ur gnr-rf UU +puid 990000 I 990.0
45421116 h*t"".lh runru u urru {r ur hrlur4p ntil UU rlpurd 9s0000 II 9s0.0

71247200
hurluruqbhpfr ulurrnluurnmri, burluuhplr
qhurhrur.nmrl UU lFu1il 990000 I

990.0

72211180 hru2r{rup\urlirh bpurqpurS}rh r}rurphphhp}r ri2url4iuh
burnur3nr-p;nr-hhhp $/ rlpurli 1000000 3 3000.0

72211135 Lhppf h EurnurSnrlu\urtr gurhghplr huliru\urpq).urJhh
bpurqpruS|rh rfurphptrhplr ri2ur\rlurh
burnurimpSmhhhp

+/ qFu1il 0 1 0

45400000/1 2hhphpf h 2frlmr-plnr-hhhpfr phfourghh hnpnqriurh
ur2luulnurhphhp +/ 4Fuld 27109000 I 27r09.0

4s400000/8 frhutnlrurmurh 3-m hurpllhplr uurhhrutrqnr_1 gtthplt
pLfaushq hnpnqnr-rf

+/ rlpurli 1490000 t 1490.0

45261 1 10 uuhlrplr Eurb\rfurh ru2fu unnuitrphhp nt
+Pulil 8010000 8010.0

71351540 uhh hh\ruLurb hu\nrlnrplurh burnurlnrpSnrhhhp uu tFurLI 902500 902.5
981 1 1 140 hhlhbru \ui:hh hu\ nqnrpluh burnru1nrplnr-L UU r1punl 302123 302.r2

Ci4urilhtrp 348212.0

Qhnrr.ltrhpp huliur\urpqnrl tI.U\pui;urh


